D0 MYRID'T VYR ORI nnan noon MIA AT TINHD My BT

29.3.16
32b (1728 7302 58100 108 AT 178) 2 34a (570 ROON AY3729))

v, pra27 PPV 02 NN Y DRIADDY .

7,897 D250 PR T OY T9R N IV N

2,22 271 172 RN qDIN Y2 NR 90 *INY 0217050 1Y 1IN N 102 YR RIAD PN Narmn Y8R INR 102 IRPT2 90 27 TR 1IN 1090 YT npn .
5,47 07727 PIPYD 00 NN YY DRIAND

22,2 mow:93% DN YR R17 NUNUND 1N KDY NN9N Y ‘N N NRITMD MDY SY) GIpWnn YY DT0 NR ART DN NR 90Y ' 7aY) .

7,45 0727:9R7Y7 1122 TYY NRTD NPWYD Y 1201 1YNY D92 MY HRIY? 212 NR ATHY) NRID NPYD NR D27 102 NNy .
7,12 02727 : 23970 IR NRID NIPD 1127 92 NR DIIRD YY PIADI) .
25 30 $972 9990 Y aNd MIR) NPRD DT Y2 NR VPR RIP? AN PIL DNY IR .

LN N N W

I misc. maYn re: writing a N from HYRnY (taught by nmin’ 27)
a  nux if he wrote it like a letter (without scoring or with care for m7>n» maon) — invalid
i source: N3 (v. 1) compared to n"o nan3
b /x5m: if he hung it on a stick (not in doorway) — invalid
i source:v.1-7ywa
ii  support: ®m1 - if he hung it on a stick or behind the doorway — m3v and no mxn
1 note: rann the king would do this in their inns (where they stayed overnight —niimn 1109) as a nnm? 1ot
¢ Dpmitis proper to put it inside the doorway
i challenge: this is obvious
ii  answer: per X217 — since it should be within a nav of 1”77, we might think that “out” is better — 5"np
d  column(s): if he wrote it in 2 columns — 5108
i challenge: ruling that if he wrote in 2 columns and placed on two doorways — ,102
1  inference: as long as it is one doorway — valid
2 defense: ruling means that if it could be placed in two doorways —i.e. on two columns — invalid
e  7¥ 127 follow the “lead” of the hinge
i meaning: in a doorway that has no obvious egress point (enter in both directions) — define the hinge as “entry”
ii  story: RmbY) wn 21 built a room, asked 1" to place the niin —but he insisted that they put the door up first
f  37sruling: if nm is placed like a bolt (lying down) — 5108
i challenge: all the mmm in »27’s house were set like a bolt; and the doorway he used to enter 7”ni’a had no nnm
1 answer: in that case,they were hooked upwards (like an ankle)
2 note: his doorway to 7"nn»a was only used by him = no nnin, unlike that used by 817 27 (which had a nrim)
g location: YRynW — beginning of top 1/3
i dissent: Ry 171 — anywhere but top or bottom nav
ii  Challenge (to 581m®): RN —
1 smir 7 allows anywhere but bottom or top nav
2 pp’7. compares v. 1 to DNV — just as oNIW is at top of hand (arm), so N1 must be at top of doorway
(a) Note: 810 171 adopts N’ "1’s approach, but YX1nw’s fits neither approach
(b) Defense: he holds like »0v "7, and permits anywhere within top 1/3 (not just at 1/3 point)
h  Location (¥37): must be within a nav of 9"
i Reason: may be to encounter it right away, or to increase “protected space” (homily - v. 2)
i Location (837 2 901 37): if he put it a nav deep in the doorpost, invalid
i Suggested support: if he put it in the hinge or hung a cover over it, requires another ntimn if it's more than a nav
1  Rejection: that is in re: putting it in the doorway behind;
(a) Challenge: that is also mentioned explicitly
(b) Answer: that is the explanatory clause
(i) Related: if he put a cover of sticks, he digs a hole and places the ntin inside; however, only valid if he
put it up first; if he put the "t in and then placed it, invalid, per ®wyn 1n X5 -HVYN
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I Structures which may be exempt
a NI27.RDW MN’a are exempt
i Meaning: without a roof or without doorposts
1 Challenge: if they had doorposts, would it be 2»n? The doorposts are only support for the roof
2 Answer: indeed, even with doorposts they are exempt per that argument
(a) Support: »ax reported that nav’s porticos, with doorposts, had no mnm
(i) Reason: he held that the doorposts are simply roof supports
(b) Challenge: ruling that 9pw 13, mR1T02R and porches require MM
(i) Answer: thatis the type of n17028 found in 17’s house — four doors that don’t reach the roof
1. Block: that is a room, not an 17T0IR
(ii) Rather: reference is to Roman porticos, which is walled with windows
b A7 27 P10 22 require 2 MM
i Meaning: a gate that opens to 1¥n on one side and to gardens on the other
¢ Related 812772 a gate which opens to a small anteroom on one side and to the garden on the other
i o /7. defined as a doorway of the room — na»n
ii 237 defined as a doorway of the garden — nmva
1 Sxipwr 37: all agree that door into house is liable;
(a) Dispute: is about doorway out to garden; is it considered part of the room or the garden?
2 9oy 371 717 all agree that door to garden is exempt — it is an entry to garden
(a) Dispute: is about doorway into house; is it considered “to the house” or “from the garden”
3 Final ruling: X271 »aR were lenient (per qo1 M n27)
(a) But:»wR "1 was stringent in accord with YR1mwy 17 (following 01 1 — 2 mnm) Mahn
III  Status of upper floor entry (from stairs coming through skylight-opening)
a w1727 if it has one opening (out to 27 floor) — requires 1 nin; if 2 — requires 2
b Inference (977): a room with four doorways requires 4 mnim
i Justification: even though only one is regularly used
IV Rulings re: type of doorway and which side is obligated
a  77p& a doorway cut into corner of walls is liable
i Challenge: it has no doorposts
ii ~ Answer: the walls are the doorposts
b Story: 9" came to YR1nW »1, saw a doorway with only one doorpost on the left and it had a nnm
i His challenge: if this is following n"1 (below), he only issued his ruling if the single doorpost is on the right
ii ~ Background:
1 Part 1: x1 which stipulates that the Nt must be on the right,
(a) Baseed on: qma (v. 1) = 9nx031, assuming that a person’s first step is with his right foot
(b) Or:v. 3, indicating that a person’s ingress is on the right side
2 Part 2: n" vs. 0N — in re: a doorway with only one doorpost
(a) »77:liable, per Y8ynw 1 and »™’s agreement on interpretation of v. 1
(i) Swypws 7. repetition of N in v. 4 is 1127 IR M17 — downsizes to 1 N
(if) »”r mnmonw (v. 5) sets up ar 12 — mnm is always one unless stipulated to be more
V' Support for practice of writing on parchment
a w732 v. 1 might have meant to write it directly on the stones
i Therefore: the verb na'na is used in re: writing a n"o (v. 6) to teach that this is written on a parchment
1 Challenge: perhaps we should compare it to the writing of the M n on the rocks (at Y2» 9 - v. 7)
2 Answer: we adduce a permanent mxn (A1) from another permanent mxn (n*o namo), per v. 8
(a) Note: from a one-time command (2280 %Y N7INN N2°NI)
3 Challenge: the nn states mnm 5y — why intepret it differently — should be written directly on the stones
4 Answer: first it states bnany — a complete writing (7nn Nn2) — then mnm 5y
(a) Question: if so, then why do we require the w1 (n2'n3::012>n3)?
(i) Answer: without it, we may have thought to write it all (completely) on stone, then place that stone
on the doorway — 9"np
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